Macierze sztywnosci elementéow kratownicy Grupa A

elementy := (5,9, 10, 11) EA := 17.5MN e:=1. 11
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LXe = X(Wke) - X(Wpe) Lye = Y(Wke) - Y(Wpe)
2
o= 5 ,
(Le) Lxe-Lye (LYe)

Element e:=5

LXe = 2m Lye = 1.818182m Le = 2.702922m

| (3544.8 3222.6] KN

3222.6 2929.6 m

Element e:=9

Lxg = 2m Lye = —1.48951m Lo = 2.49372m
| 4513.9 -3361.8) kN
® |_3361.8 2503.7 ) m
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Element e:=10

LXe = 0.5m Lye = 2.258741m
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- (1596.3 7211.2 ) m

Element e =11
LXe =1.5m Lye = —0.440559m

(10304.9 —3026.6j KN
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~3026.6 888.9 ) m

Le = 2.31342m

Le = 1.563359m



